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Part
Group - A
(Multiple Choice Type Questions)
1x5=5
1. Chooser alternative for any five of the following: http://www.makaut.com
M form factor of a current waveform is 1, its shape is
(a,)»s'fﬁsoida] (b) triangular
(c)féc’ifﬁire ' (d) sawtooth
£ (i) A series circuit consists of two elements, has the current and apws
‘ i =4 sin (2000 t+ 11.32°) A
-
v = 200 sin (2000t + 50°) r.

— -_4--""'___"__-’
The circuit elements are |

Résistance and Capacitance (b) Capacitance and Inductance

dm' and Resistance (d) Both Resistances
(c) Induc
e negince of a magneic circuits given by PP/ makantcom
(1ii) ﬂ’/\b‘/:“ ) N
( ”“0 Ar (d) ”urA
(c) /Ko
Turn Over
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(v) Rclatiunsllip hetween & and
@ a=pK1+P) (07 o= i - p)
(c) a:lf([*‘ﬁ) ) a-‘—lf(]_[;}
(vi) The Fermi level of an n-type semiconductor lics  http://www.makaut.com
caf near (he conduction band (b) near the valence band
(c) atthe middle of the forbidden gap (U) None of these

(vii) Avalanche breakdown primarily depends on the phenomenon of

(%ﬁclc collision (h) Impurity doping
Wiﬁlﬂﬂh (d) Direct rupture of covalent bond

(viii) Which on¢ of the following BJT bias configurations is mosl stable?

(a) Fixed bias (b) Voltage divider bias

(¢) Collector divider bias (d) Emitter stabilised bias

&Group-B
(Short A”‘F Type Questions)
Answer any two of the following.
qr—---'-'_"'lI

2, What is stability? Define different stability. factors.

5x2=10

14+4=5

@ What is built-in-potential? Explain it in forward and reverse biased condition of p-n junction diode. 1+4=5

4. What is biasing? Explain fixed biasing circuit with diagram. http://www.makaut.com
@ Explain how a zener diode can be used as voltage regulator.
Group-C

(Long Answer Type Questions)
Answer any two of the following.

243=5

10x2=20

6. A half wave rectifier i i -
wolge supply 10 ;e; ;s{.] i;avmg a diode of internal resistance of 50  and load resistance of 1-5 kCY uses a
(rms). Calculate (i) DC current, (ii) DC output poOwer, (iii) ripple factor,

¥ M . [COII].

2x5=10
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7.  (a) Whatis Q-point forac )
Q-p Or a common emitter configuration of BJT? How it is related to the DC load line?
0-7 Volt, Rg = 1 k{2 and

(b) For this circuit Vec = 14 Volts, B = 100, Iy = ImA, Rp = 1-2 kQ, Vpr =
(2+2)+I+2+1-5+1‘5-_—1D

Vg = 6 Volts. Calculate (i) I- (if) I (iii) Re (V) Vag.

[

5x2=10

0 of the following:

. ] Write short notes on any
(a) Varactor Diode- B
(b) Avalanche Breakdown
(¢) Junction Diode
(d) Zener diode as a voltage regulator



